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. SECTION A .
(Reading Skill : 10 Marks)
DR

1.  Read the following passage carefully : l]]:
Among the natural resources which,can be called upon
in national plans for development, possibly the most important
is human labour. Since the English Iarl'lguage suffers from a
certain weakness in its ability to describe groups composed of
both male and female members, this is usually described as

““manpower”’.

Without a productive labour force, including effective
leadership and intelligent middle management, no amount of
foreign assistance or of natural wealth can ensure successful

development and modernization.

The manpower for development during the next quarter
century will come from the world’s present population of
infants, children and adolescents. But we are not sure that
they will be equal to the task. Will they have the health, the
education, the skills, the socio-cultural attitudes essential for

the responsibilities of development ?

For far too many of them the answer is no. The reason
is basic. A child’s most critical years, with regard to physical,
intellectual, social and emotional development, are those before
he reaches five years of age. During those critical formative
years he is cared for almost exclusively by his mother, and in
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many parts of the world the mother may not have the capacity
to raise a suggrior child. She is incapable of doing so by reason
of her own poor health, her ignorance and her lack of status
and recognition of social and legal rights, of economic parity,
of independence. One essential factor has been overlooked or
ignored. The'% forgotten factor is the role of women.
Development Will be handicapped as long as women remain
second-class cfﬁ;ens, uneducated, without any voice in family
or community,ilr'rvi“arried when they are still practically children,
and henceforth producing one baby after another, often to see
half of them die before they are of school age.

We can enhance development by improving ‘“women
power”’, by giving women the opportunity to develop
themselves. Statistics show that the average family size
increases in inverse ratio to the mother’s years of education —
is Jowest among college graduates, highest among those with
only primary school training, or no education.

Malnutrition is most frequent in large families, and
jncreases in frequency with each additional sibling. The
principle seems established that an educated mother has
heathier and more intelligent children, and that this is related
that she has fewer children. The tendency of

to the fact
ducated, upper class mothers to have fewer children operates
e , i -
ven without access to contraceptive services.
e
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The educational level of women is significant also
because it has a direct influence upon their chances of
employment, and the number of employed women in a
country’s total labour force has a direct, bearmg on both the
Gross National Product and the disposable income of the
individual family. Disposable income, especially in the hands
of women, influences food purchasing and therefore the
nutritional status of the family. The fact that the additional
income derives from the paid employmenzt of women provides
a logical incentive to restrict the size of the family.

On the basis of your reading of the passage answer the
following questions :

(A) Choose the most appropriate option : 1x4=4

(@ Among the natural resources which can be called
upon in national plans for development —

() the most important is certainly human
labour.

(i)  the most important is possibly human labour.

(iii) the least developed is certainly human
labour.

(iv) the least developed is undoubtedly human
labour.

() Without a productive labour force, including
effective leadership and intelligent middle
management -

() no productive work is possible.
(ii) entrepreneurs will incur heavy loss.
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(c)

(@)

economic development will not keep pace

with national movements.

no amount of foreign assistance or of natural
wealth can ensure successful development
and modernization.

Thé manpower development during the next
quarter century |
R

@

(i)

' (iii)t |

(iv)

will be adversely affected by the threat of

war.

will come from the world’s present

- population of infants, children and

L

adolescents.

will be taken care of by the current emphasis

on free education for women.

will be adversely affected by the country’s
economic losses and political instability.

“Women power” means

(i)

(i)

(iii)

(iv)

giving women the opportunitj to devélop
themselves.

giving women the opportunity to fight
themselves.

giving women the opportunity to dominate
others.

giving women the opportunity to befool
others.
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(B) Answer the following questions briefly : 1x6=6

@)

(b)

(o)

(@)

What will be the source,'of the manpower
development during the next quarter century ?

During which . perlod is ‘a child’s growth
maximum ?

1y

Why can't the first teacher be effective in some of
the regions of India ?

What will happen to developrhent if the womenfolk

‘are neglected ?

() How can we accelerate the rate of progress ?
()  Whatis the difference between an educated mother
and an illiterate mother ?
SECTION B
(Advanced Writing Skills : 25 Marks)

2. You are the Proprietor of Grassland Resort, Kaziranga. Write
an advertisement to be published in an English newspaper
offering attractive discount to Hohday packages.

(Word Limit : 50 words) .
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OR

You are Anil/ Amrita, the Cultural Secretary of Tezpur Govt.
Higher Secondary School. You are planning to organise
a cultural programme. Write a notice for the school
notice-board in\}iﬁng names of students willing to participate. -
(Word Limit : 50 words) ‘ 5

3. Youare Imrah/ Rita of Sunrise Academy, Guwahati. Recently
your school celebrated the World Environment Day. Giving
details of the celebrations write a report in 100-125 words for

your school magazine. 10
OR

You have witnessed a train accident in which a Delhi bound
Guwahati Express got derailed. Write a report in 100-125 words
to be published in The Sentinel, Guwahati. You are
Jayanta/Juri. 10

4. Write a letter to the Editor of The Telegraph, complaining about
the noise pollution in your locality drawing the attention of
the Government to take steps to check the same. Sign as
Mohan/ Anjali, Fancy Bazar, Guwahati. | 10
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OR

You are Sourabh/Rimpi, of North Lakhimpur. You have seen
an advertisement for the post of Assistant Teacher in
Mathematics to teach classes‘ IXand Xin Gohpur High School.
Write a letter to the President of the marlaging committee of

the school, applying for the job. Give your detailed bio-data
as well. | 10

SECTION C

30

(Grammar 20 Marks)

5. Change the form of narration in the following sentences -
2x2=4
(@) The Speaker said, “I thank you, ladies and gentlemen
for giving me a kind hearing. When I arrived her(;

yesterday I did not believe that I might meet so lar

gathering”. gea

(b)) His mother exclaimed in sorrow that she had not 5 bit of
bread to give him and that he had eaten up all the
provisions she had in the house the previous day.

6. Change the voice of any three of the following Sentences :
3)(1:3

(1) A Japanese firm makes these television sets.
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() An earthquake destfoyed the town.
(0 Whom did you laugh at?
(d)' He was t-a;ught this in his boyhood.

(¢) Shut the window.

-

7 Rewrite any five of the following sentences using the verbs

given in brackets. in their correct tense forms :
| | 5x1=5

{

- (@) He (work) here since 2011.

w I__— (write) the letter last night.

(¢ He_ (sit) in the library when I saw him.

(d If I were you, I____ (notdo)it

(¢) The first World War __ (last) for four years and
ended in 1918. .

The rubbish van (come) again in the afternoon

tomoIrTrow.

9
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8. Rewrite any four of the following sentencés filling in the blanks

with appropriate prepositions : | 4x1=4
(@) He is fond playing cards.

(b) She was annoyed missing the bus.

(¢ Who is responsible breaking this mirror ?

(d) Wetried to dissuadeher ___ "'marrying an old man.
(¢) They are thinking ﬁoving to another house.

9.  Rewrite any four of the sentences as directed :

(@)

(b)

(o)

(d)

28T ENGL

4x1=4

This is one of the best colleges in the North.
(Change it into comparative degree)

You are richer than L
(Make it negative without changing the meaning)

There is no smoke without fire.
(Make it affirmative without changing the meaning)

We heard of her failure.

(Make it a complex sentence)
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(¢) He admitted that he had done wrong.
(Make it a simple sentence)

)] Unless you.work hard, you will fail.
(Make it a compound sentence)

e
SECTION D

( Texf books : 45 Marks)

10. Read one of the following extracts and answer the questions
that follow :

(1) “Perhaps the Earth can teach us
as when everything seems dead
and later proves to be alive.
Now I'll count up to twelve

and you keep quiet and I will go”.

Questions :
() ~What can the Earth teach us? 2
Gi) Why does the poet count up to twelve ? 1
(i) What will “keeping quiet” help us achieve ?
1
[11] Contd.
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OR "
@) “No, in country money, the country scale of gain,
The requisite lift of sPirit has never been found,
Or so the voice of the country seems to complain,
I can’t help owning the great rél!ilezf it would be,

To put these people at one stroke out of their pain.

And then next day as I come back into the sane,

I wonder how I should like yoﬁ to come to me

And offer to put me gently out of my pain”.
Questions :
(i) Where do these lines occur ? 1

(i) Why has the requisite spirit never been found ?
1

(iii) What does the voice of the country people seem to
say ? 1

(iv) What will be of great relief for the poet ?
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11. Answer any three of the following questions in 30-40 words :

(i)
(i)

| (iii)
(iv)

(v)

12. Answer any fivé of the following questions :

(a)

(b)
(c)
(d)

(e)

®

()

28T ENGL

3x2=6 -
What intreases 'conﬁnuously in ‘A Thing of Beauty’ ?

What is ¢onsidered to be ‘an exotic moment” in ‘Keeping
Qmet’ ? '

What are the merry children spilling out of their homes’
symbolic of ?

Who are referred to as the ‘flower of cities’ in ‘A Roadside
Stand’ ?

Which thihgs irritated the passers-by who stopped at
the road-side stand ?

' 5x1=5

What is the name of the blacksmith in ‘“The Last
Lesson’ ?

What is the ‘great trouble with Alsace’?
Why have Saheb and his family migrated to Seemapuri ?

Who is the ‘Chota Sahib’ in the “Memoirs of a Chota -
Sahib’ ? ; '

How did John Rowntree find the weather when he
arrived at Gauhati ?

Where was Champaran ?

Which country does Danny Casey play for ?

[13] | Contd.




13. Answer any five in 30-40 words : 310 5%2=10

(@)

b

()
(d)

(e)

1

(g)

‘Will they make them sing in. German, even the
pigeons ?” What does this sentence suggest ?

What are the two different worlds in Firozabad ?
What was the promise made by Knees Jung to Saheb ?

What unusual visitor did Rowntree have in his bungalow
one night ? ? P

Why did Gandhi choose to go to Muzzafarpur fj'xst before
going on to Champaran ? L

What job is Geoff engaged in ? ‘Does he entertain wild.
and impractical dreams like his sister ?

What kind of a person is Geoff ?

14. Answer any one of the following questions in 80-100 words :

(a)

(b)

28T ENGL

1x5=5

Describe the bangle makers of Firozabad. How does the
vicious circle of the Sahukars, the middlemen never allow
them to come out of their poverty ?

OR
Relate Rowntree’s experiences of floods in Assam.-

[14]
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15. Answer any one of the following questions in 125-150 words :

av

(b)

1x7=7

Describe'Tishani’s journey to the end of the earth — the
Antarctic Tegion, and his experience during that journey.

: OR

Discuss the forms of discrimination projected in the
narrations of Zitkala-Sa and Bama.

16. Answer any four of the followmg questions in 30-40 words :

(@)

(b)

(c)
(d)

(e)

28T ENGL

4x2=8

What was Zitkala-Sa’s immediate reaction to the cutting
of her hair ?

What did -Annan say about his community to the
narrator ? |

How has Antarctica remained relatively pristine ?

What are Geoff Green's reasons for including high school
students in the ‘Students on Ice’ expedition ?

What is it that draws Derry towards Mr Lamb in spite
of himself ?

Why aren’t there any curtains at the windows of
Mr Lamb’s house ?
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GROUP — A
(VIBGYOR)
(NEW SYLLABUS)

1. Give brief answers to any five of the following : 1x5=5
(@) At what age did the verger begin working ?
(b) What did the verger want to buy while walking on the street
after losing his job ?
(c) Name the author of ‘The Testament of a Walker” ?
(d) What is an automobile accordihg to the author ?
(¢) Where did Mriganko Babu’s driver gé to fetch petrol ?
() Where did the scarecrow ask Mriganko Babu to look for his
watch ?
(3) Who did Della go to to get money for Jim's present ? .
(h) What was Jim’s gift for Della ?
(i)  Who is the first philosopher mentioned by Lynd in his essay ?
(j) What did the thief in Lynd’s essay buy for a high price ?
2. Answer any five of the following : 2x5=10
(a) What occupation did the verger take up after resigning from
the church ?
28T ALTE [2]




(b)
(c)

How did the verger treat his gowns ?

Why do you think the author is indifferent to the mention of
any petrol hike ?

(d) Which part of the authors’s car could not ordiﬁarily be
replaced ? ) |

(¢) What did Sudheer not péy any attention to ?

() Who was Abhiram ? |

() Whly was Della wo_r;iied that Jim would be displeased ?

(h) What did Della do éfﬁer reaching home ?

(i) Who was. Socrates anq what did he promote ?

() Why is Pliny the Elder famous ?

3. Give brief answers to any three of the following : 4x3=12
(a) In your opinion, what kind of a person was the verger ?
(b) Describe the author’s ‘imported car’.

(c) Attempta descrip.tion of the western side of the road as seen
by Mriganko Babu.

(d) Describe what Della does from the moment she decides to
earn money for Jim’s gift till thé moment she earns it.

) On what points does Lynd agree with.Epictetus ?

Contd.
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4. Explain with reference to the context on any two of the following :

(a)

()

(c)

(d)

5. Give brief answers to any five of the following :

(@)
()

28T ALTE

4x2=8

=0T

“Dell”, said he, ““let’s put our Christmas presents away and

keep’em a while. They're too nice to use just at present.

On reaching home, Mriganko Babu went straight to his room

and searched under his wardrobe.

Among the things I value are prii/acy and anonymity, both
are lost when I allow myself to be carried about in a gaudy
car.

“I can tell you that sir”’, said Mr. Foreman, a little smile on
his still aristocratic features. “TI'd be verger of St. Peter’s,

Neville Square”.

1x5=5
Where are the children in Toru Dutt’s poem ?

From where does the blue smoke rise in ‘Sita” ?

What are many forelands set with in “The Brook’ ?
What is the purpose of the journey of the brook ?
What is it that lies near the Iégs of stone in the desert ?

What does one see beside the ruins ?

In ‘La Belle Dame Sans Merci’, who is it whoge granary is
full ?

[4]



(h) What did the beautiful lady sing for the knight at arms ?

(i) In the poem Village Song’ who will murmur ‘Why doth

she linger” ?

(i) Who is referred to as “Thou’ in “Village Song’ ? |

6. Answer any ' four of the following : . Ix4=8

(@) In Toru Dutt’s po-em, who are the people dwelling in the

 forest?
() What is the refrain of the brook ?
(c) What is written on the pedestal of the statue of OzYmandias ?
(d) What did the beautiful lady give the knight at arms to eat ?

(¢) Name the birds and animals mentioned in Sarojini Naidu’s

poem.

7 Answer any three of the following : 4x3=12
(1) Attempt a description of the forest in Toru Dutt's poem.
(b) Critically discuss the central idea of “The Brook’.

(c) Describe in detail the scene seen by the traveller in the ‘antique

land’.

28T ALTE 51 Conlta:

B e



(d) What did the knight at arms do for the beautiful lady and
what did she do for him ?

2 0

(¢) Describe the feelings of the girl in the course of the poem

“Village Song’.

8. Explain with reference to the context on any one of the following :

5x1=5
(@)l il Tis hushed at last
- And melts the picture from their sight away

Yet shall they dream of it untll the day !

(b) 1 saw their starved lips in the gloam,
With horrid warning gaped wide,
And 1 awoke and found me here,

On the cold hill’s side.

(c) Why, Oh why was I tempted to tarry

Lured by the boatman’s song ?

28T ALTE [6]
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GROUP - B

(NEW & OLD SYLLABUS)

9. Change any five of the sentences given below as per instruction

given, without changing their meaning : 1x5=b
(a) - The waters of the Sia'ng have turned turbid.
(Change into interrogative)
(b) The cow was given fodder by the farmer.
(Change into active)
(c¢) All children love ice cream. '
(Change into passive)
(d) Aren’t dogs faithful animals ?
(Change into assertive)
(¢) A Leopard can never change its spots.

(g)

(h)

28T ALTE

(Change into interrogative)

Chennai is hotter than Mumbai. (Change into negative)

No one found the play uninteresting.
(Change into affirmative)

Winters in Guwahati are getting colder each year.
(Change into negative)
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10. Add appropriate questions tags to any five of the following :

1x5=5
(a) You are learning music.

(b) They have been to Mumbai.

(c) He éan act very well. -

(d) She is an expert rollerblader.

(e) .]udy'has just recovered from a bout of chicken pPox.
() You could Have done the work last week.

(g) Jio is going overboard with its offers.

(h) Global warming is really affecting our winters.

11. Fill any five of the following blanks with suitable prepositions -

1x5=5

(a) His flight is 1030 a.m.

(b) The cow jumped the moon.

(c) The cat licked the cream

the plate in minutes.

(d) The boy stood the burning deck.

(¢) The moon is walking slowly the night sky.

(N He seems to have a finger every pie.

28T ALTE [8]



the drawer.

(g) I have kept your phone

(h) You must never jump a running bus.

12. Rewrite any five of the following sentences using the verbs given

in brackets in their correct forms : ' 1525

(1) We have just (finish) our English exams.

(b) All of next month our teachers will be busy —___ (correct)

our scripts.

(c) I spent hours ———— (study) for the exams.

(hope) that I will secure good marks.

d I ——

- (wish) for.

(e) Sometimes things do not happen as

surprise) at how easy the questions were.

i
(g We —

(write) for three hours each day last week.

s well as 1 (hope) for.

(h) 1 hope [ shall fare @

13. Read the passagc given below and answer the questions that
follow :

“This is my 257
i

visit to India”, says Ms. Vera, an Italian, “‘and
National Park and Tiger Reserve is on my list.”

this time Name!

with her groupP of 15 compatriots, most of them in

Vera, along
- [9] Contd.
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their 60’s, enjoying a world tour, loved visiting places that offered
them a change from urban spaces. Vera says, “India is a perfect
place to witness a blend of culture and religion”.

Most of the people in the group are visiting India more éhan once
and their love for India is never-ending considering the frequency
with which they visit the country. The group consisting of about
15 people first went to Kolkata before visiting Assam. “Kolkata is
like a mini India”’, says Vera. ““You see all sections of the people
everywhere”. They moved to Nameri to enjoy the wildlife and
serenity of the place. The group then iplanned to go to Kaziranga.

They did not hide the excitement of seeing the one horned rhino

for real.

(1) How many times has Vera visited India ? 1

(b) What are the places she intends to visit or has visited this

time ? _ 2
(c) What, according to Vera is India pérfect for ? 3
(d) What displays the group’s love for India ? 3
(e) What are. Vera’'s views on Kolkata ? 2
() Attempt a description of the group and its journey. 4
28T ALTE [10]



I

GROUP - C
(EFFUSIONS)
(OLD SYLLABUS)

14. Answer any five-of the following : 1x5=5

(a)

(b)
(c)
(d)

What do Aléﬁ;ander, Atilla and Caesar répresent for
Ambedkar? :

What is Carlyle the apostle of ?

What is it in a car that Narayan is impervious to ?

Where, according to Narayan, does man’s ultimate destiny

lie ?

(e)
62,

(8)
()

(1)

()

28T ALTE

Where, as a square peg, 1s Nehru afraid he is in ?

Who or what, according to Nehru, is not directly responsible
for this state of affairs of the Congress ?

What, according to Forster, is a mental starch ?

What does Forster consider as something comparatively solid

in a world full of violence and cruelty ?

y records of writing survive much longer than

Where do earl

they would in less parched soil ?

What was it that filled Lao-Tze with horror because they were

unnatural ?

[11] Contd.




15.. Answer any five of the following : ’ 2x5=10

(@) When did Lord Rosebery propose another test ?
(b) Why, according to Ambedkar, is a man great ?
(c). What, in a car, satisfies R. K. Narajr'an ?
(d) What will happen when man rediscovers the use of his feet ?
(¢) What did the district magistrate tell Nehru upon his arrival at
~ Allahabad ? |
(f) What did Nehru hear about Gandhi that made him unhappy ?
(¢) What must come to the front if the human race is not to
collapse ? .
() What, according to Forster, must one assume for the purpose
of living ? '
() When was the horse domesticated in Western Asia ?
(j) What did Lao-Tze and Rousseau both believe in ?
16. Answer any three of the following : 4x3=12
() What are Ambedkar’s views on sincerity ?
(b) Describe the reactions of the auto-pundits to Narayan’s
imported car. '
28T ALTE
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(c) - What does Nehru say about socialism in relation to the

Congress ?
(d) Discuss Forster’s views on personal relationships.

() What are Piaget’s views on reasoning and what is Russell’s

reaction to it ?

17. Explain with reference to the context any two of the following :
4x2=8

(a) They appeal to and dazzle their contemporaries by their

resounding victories.

(b) The air-conditioner, which is supposed to make one’s journey
free from dust, and heat, and noise was switched on, during
the ten years I used the car, for a‘total period of thirty minutes

.....

(c) Human beings have an enormous capacity for adapting
themselves and so I too adapted myself to some extent to the

new conditions.

(d) 1 hate the idea of causes, and if I had to choose between
betraying my country and betraying my friend, I hope I should
have the guts to betray my country.

18. Answer any five of the following : 1x5=5

(a) What does the old horse do ?

() What is it that rises from the couch grass ?

28T ALTE [13] Contd.



(c)

What lies to the north of the walls in Pound’s poem ?

(d) What do the horses do when the friends part ?
(e) Who is in the darkened room ? |
(f)  Who sings the old, old story ? v
(g) What are the colours on the afﬁs and legs of the rickshaw-
wallah ?
(h) What does the rickshaw-wallah’s chest have ?
19.  Answer any four of the following :  2x4=8
(a) - What will go onwards the same: though Dynasties pass ? |
(b) Who is it who come whispering. by ?
() Where do the friends part ?
(d) What is sunset likened to by Pound ?
() What happens when the fair lady weeps ?
(/ Who dwells in the clearing of the forest ?
(g) What will remain when all else is goné ?
() What do the limbs of the r%ckshaw-wallah have ?
20. Answer any three of the following : 4x3=12
(2) Attempt an analysis of the central idea of Hardy’s poem.
28T ALTE [14]



(b) How does Pound bring out the painful experience of the
parting of fri'ends ?

(c) Explain the significance of the last two lines of the poem Sita".

(d) Bring out the central idea of the poem ‘Rickshaw-wallah’.

21. Explain with referenice to the context any one of the 'following ;
5x1=5

() War’s annals will cloud into night

Ere their story die.

(b) Here we must make separation

And go through a thousand

miles of dead grass.

(c) ~ A dense, dense forest where no
sunbeam pries

And in its centre a cleared spot.

28T ALTE [15]
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PART-A / F-*
( Contemporary World Politics )
( FTEIET [ e )

1.  Answer the following as directed : 1x6=6
weTe FAERE ol SEaRl Ted @
() Write any one new threat to human security.
TiFE Faier df Riepa w90 o @b T |
(b) Write ‘yes’ or ‘'no’ :
China adopted an ‘open door” policy.
ECECACEU G
S T& WK e el Flai=e |
() Write the full form of SAFTA.
SAFTA 3 5794 sl forali |

(d What do you mean by ‘Operation Desert Storm” ?
el g7 Sfeas e 2

(¢) Which of the following UN agency i concerned with the safety and

peaceful use of nuclear technology ?

(i) The UN Committeé on Disarmament
(i) International Atomic Energy Agency
(iii) UN International Safeguard Committee

(iv) None of the above

(Choose the Correct one)

28T POSC [2]



(e AGTRT RIA0! AER AR agfeRmE Mo o =i
2R il oia-oer F e

() FeEFe T e A
(i) GAEE AR 35 e
(iti) JTATT SFAGIT Faom Ahife
(iv) \G5F® Trmd TG GbIe 757 |

(3% TG0l JIf Gfersan)

(H initiated the reforms in Soviet Union in 1985.
(Fill in the blank)

5ot HS (RIS 2eiaTe G I oAl Sefeifeze |
(T} 312 999 )
Write two causes of Globalisation. 2
i 7oy e B |

Mention fwo areas of conflict between India and Pakistan. 2

SIR© YiF AlfFEET ATH FRAGT 75/ (FG G 4 |

When was ASEAN established and how many members were there at the
beginning ? 1+1=2
SR @ 5e st (2fee wiw wiaside e K A sifee 2

Write the name of two super powers emerged after Second World War.,

2
fast g fPiee e et 922 *fe o A B |
Write two constraints on American hegemony. 2
N Sifdore@ eome o 75 dferarel B2 |

2

Write two causes of disintegration of Soviet Union.

Rfert Toivma Afssswis 7h FRd F |
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8.  Discuss briefly about the relationship between India and China, 4
I OF bFE WE AT KA 530 SNesival 4 |

9. Discuss briefly about the economic consequences of Globalisation. ~ 4

R Sitafon AR s REw G SHeToHl <1 |

10. Write briefly about global poverty. 4
e wRwel KA 530 Fral|

11. What is the relationship between the rights of indigenous people and

environment ? Discuss briefly. 4

REGT TR SRR i AR TG T#F 2 B SIS 51 |

12. Do you think that India should be given permanent membership in UN .
Security Council ? Justify your answer. 4
WW%@W@W@W%WWW@{%W? AOIPIG|
Tew Ffegel | '

13. Discuss the consequences of disintegration of Soviet Union. 6
iferTe Tofame Afeesel AReSTR SiEbal 1|
Or/ @3dl
Discuss India’s Relationship with USA. 6

S T3 CitS OReT F~2/E bl F1 |

14. Discuss critically about New International Economic Order. 6

T s SAEReS AER FAACETHAES ATl 4 |
Or/ &4l
What was India’s stand in the Cold War era ? Discuss. 6

o Tad 10 ORed F2fo (FreEed iz ? SIEsar 5t

28T POSC [4]




PART-B / 4-*I4i

( Politics in India since Independence )

( FIAres ©lgeq Eife )
15. Answer the following as directed : 1x6=6
wore WA o SRl Tee & 8
(@) In which year Planning Commission was established ?
@I oS ARl S Zie e
() In which district Anti Arrack movement took place ?
@ foete WvE w1 REid] Sierien AR (2fee 2
(c)  First nuclear explosion undertaken by India was in the year
(Fill in the blank)
SIS AT A b0 ARSI [ <o |
(3eTt 312 259 1)
(d) Write the name of any one State formed on the basis of State
Reorganisation Act, 1956.
$5EY 5 AT 2RI izad SfEs 5157 =t R @< arens =i f&11 |
(¢) The fourth general election of 1967 brought change in India’s political

28T POSC

and electoral history. (Write ‘true’ or ‘false’)
S5 5 5L TR FRISE Slaed AataoP o i~ 3oz Afoq
e | (571" (7 ey fa7l)

When was National Emergency due to internal disturbance declared
for the first time in India ?

TS AR A TSR FHR2EoR AR (IR 5O GO SRl
wEl CArEe T C2RE ©

[5] Contd.



16. Write two recommendations of Mandal Commission. 2
New SR 7o) o[ o
17. __and — were the two nations included in ‘Two Nations
Theory’ advanced by the Muslim League before independence. 2
(Fill in the blanks)
FiETo A T Al SREE T e vg's swye w6l 9y 737 i
I | (T 212 799 )
18. Write two features of Coalition Government. 2
G HIFIIA 70! (AT BT |
19. What were the two reasons which led to the mid term election in 1980 ?
2
S3b0 5T NS b S FRIEN (@A 75 e 6 [62
20. Write any two features of India’s foreign policy. 2
SRed @R Tifed R 7o @fiE B
21.. What is ‘Grand Alliance’ in the context of Indian Politics ? )
SiReR qEifed sifefFes fmie el A fpe
22. Discuss briefly about the reasons of Congress domination in the early
years of India’s independence. i
oY FITTOR S FAARAS FCAR TS FEAS DR 5373 Sigetival
4 |
23. Discuss briefly about Chipko movement. A
fooicnl STieTed RA P Stetbal 54 |
74. State the main arguments in the debate that ensued between
industrialisation and agricultural development at the time of Second Five
Year Plan. 4
HER AR RN TS TEIT W% R RFeke o gy &l
o e T4
28T POSC [6]
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25.

26.

27.

28.

Discuss briefly about the secessionist movements in North East India.
4

Teq ~7 SR RbZORIT S T2 R 530 Al 4

Discuss briefly about India’s Nuclear Policy. _ 4

SiEed AT FIfes & b S0l 54 |

Discuss the controversies regarding emergency. Do you think it was
necessary ? Justify your answer. 5+1=6

G SEERE P Give Red T2 SIEnal 41 | Ol Sty s3]
CqEel TR AT Sifes] IF SR ? (O Te99 el Tife 4 |

Or/ g2t

Analyse the lessons India got from emergency. 6

GEIFA SREIE Fd SRS w@e Al R [ 4

What do you mean by Planned development ? Discuss the role of Planning
Commission in the development of India. 1+5=6

SRS R I & 361 2 e K AfRwsml SR gf el SicEs i |

Or/ g€t

What is Green Revolution ? Discuss critically about green revolution in

: 1+5=6
[ndia.
oiow Rgd e oo (e [N2aT Fata TRIEnaes SiEb=l s o |

28T POSC



_ : Total number of pages - 8
28T EDUC ‘

2018
EDUCATION
. Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
~ for the questions.
Q. No. 1 carries 1 mark each 1x12 =12
Q. No. 2 -13 carry 2 marks each 27%x12 =24
Q. No. 14~23 carry 4 marks each 4x10 =40
Q. No. 24 - 27 carry 6 marks each , 6x4 =24

Total =100

Contd.



1. Answer the following questions : 1x12=12

were Al epTTER Te fal ¢

Fill in the blanks :

R SR 7T B o

(@) Multipurpose secondary schools in Assam were established on the
basis of recommendations of _____ Commission.
e ITPN NGRS ROERA TR ST =[iei oo eifod
1 o=l ' X :

(b) Absence of direct contact between teacher and student is an
important characteristicof _______ education.
e o wdl ToR dorE AT SR R o5
gl aME| . :

(¢) Stimulus has no influenceon _______ attention.

TCAICIASTS BT (I S RIS |
(d) Through repeated attempts a student succeeds in computing a sum

(e

(9

()

28T EDUC

by himself. Such learning is supported by _ method of
learning, A ‘ |

IRE B3 TR GO FAR Ol O S TS SR ey o

e aiferm Rl 1afST aRt s A

Counselling is ___ function of mental hygiene,

s Wi TP Ty Rese TR |

All scores are taken into consideration in finding out
measure of central tendency.

PR 2R (e Rpies A T@Is .
= TEET AN Rl =

as

Give short answer in one sentence :

G5t TS 5y Tex faa ¢

What is the objective of ‘Early Childhood Care
‘SN IFTFER TG % w3 Sy Rop

Who introduced the concept of population
TR IR AR (I @IRE e 2

and Education’ ?

education ?

[2]



(@

‘Learning involves totality of perception’ — which method of
Learning is related with this statement ?

B “saeret REFIR GoTe P RSN aiﬁ%cﬁraaer—ﬁw« I

@

/TS TTS (T TNE?

. Is it correct to say that memory always aims at the past ? — Justify
'your answer.

,Www@@ﬁtiﬁmzﬁmﬁm? CWWWW‘&I%
SRR |

*)

@

2. Describe two important problems of Secondary Education in Assam.

Mention an objective of mental hygiene.

wﬁﬁaswﬁmmaﬁ@mwzim

25% of the scores in a distribution is less than the score 10 and 25%
is more than the score 40. Find out the quartlle dev1at10n of the
distribution.
@mﬁwqmﬁm%%aﬁwaﬂmawwzs%aﬁmaﬁma
esF® Tz | Rerem R vgdes Rpife R =1

, . : 2
ep] NGhe Fwig 75 sPm 3 3|
3. Mention fwo important features of Distance Education. | 2
w1 e g ewgs i Sy =t
4.‘ Wrrite two objectives of Environmental Education. . 2
sificaet FrFIR 757 e e
5. Mention fwo benefits of imparting Physical Education in school.
2

R AR P e 75 SoiRel S

6. Mention fwo educational applicability of conditioning method of learning.

2

e SREE AafeT 75 s Aol e 4|

28T EDUC
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Oi‘/ T
,:Learmng is nothing but a process of solving problems — What is your
view ? 5

“P 1 ! A e AR o A T — mﬁwﬁp?

7. Brleﬂy show the difference between ‘trial and error method' and
‘insightful method’ of learning. 5

P "eipR I 1 Srafs” e Wﬂwﬁamm@m,

‘8. Write a note on the differences between Retroactive Inhibition and

Proactive Inhibition. , ”
WQﬁamﬁwﬁﬁm« mamaﬁmen% it |
9. “Instinct is an 1mportant condition of attentlon - explam, 2

e@ﬁf;mﬂwﬁmq $” — i |

.10. Mention two points showmg the .relationship between education and
mental hygiene. ~ 2

Frevt i TR g Resa T orgEiR 7ot it S

11. “Mental health depends upon adequate satisfaction of oyr needs”,
— Explain this statement. 2

Wwwmﬂm@wﬂﬁmﬁe«—ﬁ@m
— TR R 4

12, Why Median is considered as a positional measure of central tendency ?
Write the formula for finding out median from grouped data.
1+1=2
wwﬁ@ﬁa TSI BT (@id 3 [ @miﬂ?ﬂs{fi@aﬁaawﬁcﬁq |
AT I

13. Mention two uses of statistics in education. : 2

frers sifecat Reime 757 7T @ 41

14. Write four functions of ‘Board of Secondary Education, Assam’ as given by
‘Secondary Education Act, Assam, 1961".

‘i FPml wiize, ©ET, 1961-F BRI &S “SFT Mg R SIE
T 341 WW

28T EDUC [4]




15.

16.

< 17.

18.

19.

20.

Write briefly the suggestions. given by Kothari Comm1s31on regarding
structure of Secondary Education. . 4

wmﬁﬁﬁwmmm mﬁmﬁwmmswml

Describle the suggestlons given by Mudahar Comrmssmn for
improvement of vocational efficiency among students. ‘ 4

_WW TR TAfT AR [OIRER SISk mmxfasgacﬁtwn |

Or/ 3
Discuss the suggestions given by National Policy of 1986 to equalize
educational opportunity.
P TSR A SR A Sdbb 571 RO RIS SoRCpII =] 7oz
g |

Suggest four measures for unpartmg population education in educahonal
institution. | 4
WW\WWWWWWWWI - N

" Or/d o

" Discuss the scope of Environmental Edtication.

AR AT AR T ST S

Write the educational importance of the ‘Law of effect’ of learning,
e “TEIEE] AO'F IS Siee Frat
Mention four educative value of ‘insightful method’ of learning,

R SR e’ 3 SIRD IR T S

Explain the concept of analytical and éynthetic attention with example.

4
RIS S NS AT et Barget 7 0t 3 |
Or/d
Describe four mental causes of forgetting.
g HIADY TG I 3 3
[5] Contd.
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21.

24.

Wrrite four ﬁnportant objectives of mental hygiene. : 4
AP *amﬁw wﬁ?f ew%f %‘m ot

What is Pie diagram ? Represent the following data of students’ enrolment
in a primary school by a Pie-diagram. ~ " 1+3=4
e foa Ree <t mmﬁmﬂ@ma@am—%@%ﬂ{qwﬁm—@mﬂ
41

Class No. of Students
(1) (RERAR YY)
I 48 -
II - 40
I 40
\Y < 32

Construct a Iustogram and a polygon of data given in the followmg table
on same axis (use graph paper). 4
wﬁmwﬁﬂasmmwwwwﬁmmwm
g 91| (Graph o9 IR AN
Class-interval Frequency
(=9 o) (ARSI
4549
40-44
35-39
30-34
25-29
2024

W . O = N

What is Non-formal Education ? Describe the importance of Non-formal
Education in present day society. 2+4=6

TTerpsifes ol [ TG ITIETe SererafeT Frem awg s 3 w41
What is Value ? What measures we can take for imparting value education
in school ? 2+4=6

28T EDUC [6]




Or/df
What do you mean by women empowerment? Discuss the role of
education in women empowerment. 2+4=6

ﬂﬁﬁmﬁwqqﬁm—ﬁﬁs{waﬁamﬁmq@ﬁﬂwﬁmww
sl

26. Explain the process of memorisation. Briefly describe four marks of good

memory. : Drd=6
WﬁWWWIWW Wmmaﬁwl

or/a
What is Interest ? Discuss the characteristics of interest. 2+4=6

ez e wezd @Y R sl 71|

27.  What is Central Tendency ? Find out Mean of the following distribution

table by Assumed Mean method. 2+4=6
@@ﬂmﬁs?WWWﬂm@wwﬁ@mmw
e
Class-Interval Frequency
((eR=@qT) (CIERIEC))
40-44 5
35-39 '8
30-34 8
25-29 ' 10
20-24 12
15-19 6
10-14 5
5-9 3
04 3
N=60

- 28T EDUC [7]
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1. Choose the right answer from the four alternatives given below :

vt frat 510 Fem Tead o[l wF Tears! i St -

(@) Which one of the following is not a push factor ?
iR D! Rl e 727 2
(i) Water shortage
{19 FIOH
(i) Medical / Educational facilities
et / et iR
(i) Unemployment
gfe a2
: (iv) Epidemics

RIS

(b) Which one of the following countries has the highest sex-ratio in the
world ? J

R (e (T 4R foeee wibRsts @ fiel sas g ¢
() Latvia

il
(ii) United Arab Emirates

AYE & Iy

1x4=4

(iii) Japan
il

(iv) France

A

28T GEOG 2]
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(9  Which one of the following is not a plantation crop ?
atiRe @RRY QoW =3y 51 ¢

(i) Coffee
IR
(i) Sugarcane -
- AR
(iii) - Wheat
Coaw
(iv) Rubber :

@ In which of the following trade blocs is Inciia an associate member ?
woTe TEd I ey de ooTe S @INBIR AR AT 2
() SAFTA : -
<. 9. 9%. . 9
() ASEAN
Q. @b. g 9. ¢
Gii) E.U. '
e
(i) OPEC
LALES

‘9 Answer the following questions in brief : ' .‘ '1><4=4
were Rt erTTEe oY Ted fam 8

(@) When was the first complete population census in India conducted ? |

SReRES FPOLS T (IR oAl (I TS WS W 2

# g
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(b) What is I5opulati0n Doubling .T ime ? ' g
SR fagd A Iera /3@ ¢
(¢) In which district of Assam Dibru-Choikhowa National Park is located ?

@-WWWW I e SR

(d) Name the source of river Brahmaputra.
TG TRIG GBI A TR |

3.  Answer in brief : ‘ : - 2x10=20
53 Beq fral ¢
(@) Define human geograpliy.
N Braller ket | : -

(h) Name three geographical factors that influence the distribution of

pdpulation.

ekl eade eelr [ =1 @ﬁﬁ@%wmm,

()  What do you understand by population composition ?
G eiom e 6 @ 2

(d) Write the names of fom’ pillars of Human Development_

Sia BIE DIRG! 325 ed A T |

Naliat gardéﬂing is practised near urban areas. Why ?

m@@ﬁwmﬁc%awmemvﬂmwﬁmw:ﬁm?-

(e)

[4]
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1

(8)

(i)

0

(any

What is retail trading service ?

LAl I R 2

What are the main factors for location of villages in desert regions ?
TRl TS Al S Bio ZJeE 5 PIFT TOR (Rl T2

Name six Administrative towns and cities of India.

Slqed B! eHFNIT F99 SR 52EF F1 {7 |

Name important items which India imports from different countries.

siaed [foq (iR «[1 Semift 3R 26 SEAwEey ANNEEE [ F{)

Name two hilly districts of Assam.
o AR @ gas | i

Answer the following questions in about 100 words - each :

mne) 3x9=27

Wﬁmmm%@moﬁwﬁ—ﬁm (R 75

(a)

(b)

(©)

(d)

28T GEOG

'leferenhate between Primary and Secondary activities.

selfi oI e S A Fril

Which are the major regions of the world having a dense network of

air ways ?

qrﬁa@mmmamwwwumﬁﬂ%wwﬁm ?

Write different types of International trade.
wrsifes afderd Rien exieng |
Which are common property resources ?
arerl e R [ 2

[5] Contd.



() What can be possible impacts of consumption of contaminated water
on the people ?
RfEe AN R Sl T G SR [ 2ol 1 T o1 A ?
(f) What is nuclear power ? Mention the important nuclear power stations
in India.
AT *fe & 2 Sived ARNARS e &% T T T 314 |
(g) Describe the problems of slums of India.
SRS JBAAR TFEIRER [RAE Bl |
(h) Describe the density of population in Assam.
SPTR SRPRUE Te el
(i) What is the difference between pollution and pollutants ?
2R e AR [Er Al 2
(G) Give an account on the Tea Industry of Assam.
T 512 Sl REcE <@t (o1 |
5.  Answer the following questions : (any three) 5x3=15
el erTRa el fr & (R oY)
(1) Discuss the problems associated with Urban settlement or Rural
settlement in developing countries.
SHEPE O TR 9IS 4t sy Ifed TPl d [ sicese 31 |
() Describe the role of land transport in the economic development of

28T GEOG

India.

Sies e RS T51 ARTEA (@ AR (o 3l 3|
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(¢) Describe the climate of Assam in brief.
ST W‘Eﬁ <f6 o 3 far

(d) Mark the following places and nvers on the outlme sketch map of
India : : .

SR amwwﬁmmmw«w :
(i) * Capital of two states :
W e IS ¢
(1) Mumbai
™=
" (2) Imphal
o

(i) Two rivers :
w4 T 3
1) Mohanadi“
-
(2) Kopili
Fi¥el

28T GEOG | [71-
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PART A ~ & 9™

1. (a) Define market economy. ooy :1

TR WIS e fait |

(b) What does a point below the production poss1b111ty frontier
indicate ? 1
@ammﬁﬁn%ﬁ@wmﬁrﬁqémﬁsmy

(0 Whatis ‘meant by inferior goods ? - 1
e w o [ mme '

(d) What is an indifference curve ? o 1
Rater® @ /e |

(e) If there is no change in quantity demanded despite a change in the
price of a commodity, what will be the price elasticity (ep) of

demand ? 1
aﬁammvﬁa@awuﬁmﬁmﬂﬁm«mwﬁa@m
CSREE BifRA w1 FfegeiTel (g,) R 232
(/) Whatisa productlon function ? 1
Teoma Few 2 ‘
2.  Distinguish betweeh positive economics and normative economics,
' , 2
Tt o Sere wdRERR AN B
3. Mention any two important factors determining price elasﬁéity of demand.
. o

vifEwR 7 Rfogeeel e 37 R 1o o3gs) | 3R o =i

4. Suppose, when the price of a good is ¥4, the quantity demanded is 25
units. As price increases to 5, the quantity demanded falls to 20 units,

Calculate the price elasticity of demand. 2

@l T, O SN WA 4 T T TR SR AR 25 = 7w @fom
FEReE T 5 Gite A, HiRWR AR 20 G0 I G (RS BifdwiR Wy
fafegrereet R 1
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5. Can therée be some fixed cost in the long run? Justify ‘your answer.

1+1=2
MreTe BT T AR A2 (ORI TEH RS 24 1 |
) - OR/= |
- What is margmal product of an input ? o 2
B ToAing AT Best e | ‘ ~
6. Write down the concept of normal proflt 2
FroiR ST QRS frat| |
7. .What is .mo'nopOIistic competition? . - 2
- GRifERIR efSrRifTeEE TEiR /e ' |
8. What does the Average Fixed Cost (AFC) curve look like ? Why does it
* look so0? 1+3=4
G 3T JA (AFC) (RRITRR SIF(S (gt e TR AP (ol Ry e
| OR/ @eat
" What is méant by Returns to Scale ? Give the meanings of various stages
of Returns to Scale. 1+3=4

TR afenm e B Ene Rien «frm war afenmmes wd &@i

9. ' What is an isoquant ? Why are the isoquar;ts downward sloping ?
2+2=4

I BeolWA (I 2 7 Teolv FAPTE R SoepIceT (e 2

10. What does a firm wish to achieve ? What three conditions must hold for a

profit maximising firm in the short-run ? ' 1+3=4
T 2o G4 e Sy Fiffa 3R REI 2 27 TeT© S A eifSwiv
IS AR & A 59 79 T AR e

OR/ G943t

The production function of a firm is given as Q = 5LY/2K 1/2, Calculate the
level of output (Q) when it employs 25 units of labour (L) and 9 units of

capital (K). 4
G4 TP LSO Beotma e Q = 5LY/2K /2 fmil witR) 25 @7 = (L)
W% 9 G g (K) Feanet sRee afSeers Seoimms #iRwd (Q) et =i
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11. Explain two characteristics of perfectly ,competiﬁve market.

4 efSaifonpe IR 757 T [ =i

12. Explain the effects of a rightward shift of demand curve on equlhbnum
' price and quantity when the number of firms in the market is fixed. Use
suitable diagram for your answer. 4

a@m—ﬁﬁ%m@aﬁmwwwquﬁﬂmwﬁ*mﬁm
WWMWWWWWW|

13. Whatis demand curve ? Show with the help of suitable dlagrams how the
market demand curve can be derived from individual demand curves,
1+5=6
wial M%?Wﬁﬂﬁmmw AT IS il monavnﬁi?ma
FRIGHI (RSN |

OR/W?HT

Explain consumer’s optlmum with the help of indifference curve
approach. ' 6

R @ ~51R TS (SIS SRFRD 1t 34| b

14. The short run Total Cost (TC) schedule of a firm is given below. Calculate
the TFC, TVC, AFC, AVC, AC and MC schedules of the firm.

q3 AfSHIT ZFITA P T (Tc%wgwmmnammm TV(:6

AFC, AVC, AC ®iIs MC

0 10
1 30
2 45 \
3 55
4 70
5 90
28T ECON (4]
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Give

OR/ 93! ‘ ‘
the meaning of Total Fixed Cost (TFC) and Total Variable Cost

(TVC). Show with the help of a diagram that Total Cost (TC) is the sum
* of TFC and TVC. ‘ 2+4=6

3 %= 7 (TFC) W% 9 ~IRe& e I (TVC)@WQT%%M oo vIme © (ST
'@TFCWTVC?@WWI??E{EW(TCN _

15. | (h) What is macrpeconomics ? 1
iR wefRe e .
() What is autonomous consumption expenditure? | |
o (of I WA e B
() Define excess demand in the context of income and employment
' determination: . -1
: mmﬁmﬁﬁﬁwwwﬁﬁwmwml
%d) What are public goods ?
g o 7
) What s balanced budget? o | - 1
g e '
7 Write down the meaning of flexible exchange rate. 1
RadTE R T o =i
16. What is GDP Deflator ? 2 ‘
i 7l Beslimd T 2
OR /@33t
Define pudget deficit and trade deficit. 2
< |6 Fifafre QT ket
' [5] Contd.
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17.
18.

19.

20.

21.

24.

What is Personal Disposable Income (PDI) ? 2

Ifears JFAT o e

Distinguish between demand deposits and time deposits. 2

DIzl WIS IR T WSS WEw SRy (Y|

What is the difference between Ex-ante investment and ‘Ex-post
investment ? ' 2

efiffie wi% oge (CRIE) R e il e

Mention any #wo items of non-plan expenditure of a governiment budget.

' ‘ 2
5N B SRS IFe Ko 7o Raw S w41

What is Balance of Payments-(BoP) ? Mention fwo main accounts of BoP.
o 1+1=2
-G Tl (BoP) 2 BoP 3 757 @il fpiet S 31|

Suppose the GDP at market price of a country in a particular year is
¥ 1100 crore. Net Factor Income from abroad is 100 crore. The value of
Net Indirect Tax is £150 crore and National Income is 850 crore:
Calculate the aggregate value of depreciation. - . - ~ 4
@ T O A I/S 9 ORI WS GDPpp I SR 21100 IS
RO 7/ @Il St AFS ST (NFIA) T 100 (i, 87 “RFF 339 siRwe

2150 @srr%mm@awqﬁmissomﬁm,w-wﬁﬁﬂ@wm

' a9l ¥R .

Define Intermediate goods, Final goods, Consumption goods and Capital
goods. . 4

o< e, i R, cobl AN S R WA e fa

Measure the level of ex-ante aggregate demand when autonomous
investment and consumption expenditure (A) is ¥ 50 crore, MPS is 0-2 and
level of income (Y) is 24,000 crore. State whether the economy is in
equilibrium or not (cite reasons). : 3+1=4
oy REAGN i% (ot 7 (A) 250 (I, AT FwT 2kl 0-2 S I $]
(Y) 24,000 (IS 2= erepiie AN siftnr sif¥wid R T3 Sfetedt | o
RS SIS ST S 2 PRt oefi |

28T ECON [6]



OR / &34t '
The autonomous consumption in an economy is ¥500 crore and total

personal disposable income is Z 5,000 crore. If the marginal propensity to

consume (mpc) is 0-8, find out the level of aggregate consumption.
4

Bt SRREEe Fog (ST S 500 @it Tt i Y9 Jfesre IRy W
5000 (i 5301 | ARG (it 2Tt 0-8 T, wwwmm coing «Af{me
st =41 | |

25. What is revenue deficit in a government budget ? Explain its implications
of revenue deficit. ' 1+3=4

mﬁmwwﬁﬁ?wwﬁawmmWWW|

26. Differentiate between devaluation and depreciation of curfency.

IR ST, S YR IRV IR TS AR (T |

27. Explain the circular flow of income in a snmphﬁed economy with two
sectors — households and firms. 6
2R O IR ST — 4% -R0TE <5t T e IS AR S 2T
gt <+ | .

OR / 9%4qt

Write down some of the limitations of using GDP as an index of welfare

of a country. 6

GU (PR TR IS BBt GDP T JRRAT IR Rgwia i vt |

78. What.are the main functions of money ? How does money overcome the
shortcomings of a barter system ? 2+4=6

TR 2w IR & e @R (e R 2 SRRYRR |IeT 7|
OR / 5%af '

Briefly explain any four functions of the RBL 6
oReE Reré @ (RBI) I Ry o1 < SR T A1

X
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Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
| for the questions.
Q. No. 1 carries 1 mark each 1x12=12
Q. No. 2 ~13 carry 2 marks each 2x12 =24
Q. No. 14 - 23 carry 4 marks each . 4x10 =40
Q. No. 24 - 27 carry 6 marks each 6%x4 =24

Total =100

Contd.




1. Answer the following questions : 1x12=12"
s PTRR el fuw ¢
(@) Which city is known as “Financial Capital” of India ?
Wﬁmw\g “W Wﬁ”iﬁ"w ﬂm?

() Who was the leader of social movement in Jharkhand ?

ST AT @O @FH ez 2

(c) What is the full form of ‘AIWC’ ?
‘ATWC’ I s i e

(d Name the major religions existing in India.
OIToY ebfere AN LI W FRi

(e) What is Colonialism ?
TofiTorRm e

09 Who wrote the book “An ESSay on the Principle of P()pu]ationn ?

“An Essay on the Principle of Population” NS SN g
[GIRIESE: |

¥

(g) Caste is an example of open/closed stratification.

TifS I& /3% BIFTR Taizsel |

() What is the meaning of Demography ?
T R o e

() The term “Dalit” was coined by Dr. Ambedkar, (Yes/No)
“wfeTe” =TT TERT ©° TCIRA | (27 727)

28T SOCI [2]




() Who'is M. N. Srinivas ?
&, <. QA e

(k) In which year the tea indusfl;y sfarted in India ?
(T BTS ©ISS b SIis SITS (2fRE?

() What is meant by ““Corporate Culture” ?

“aem Acgls” et B 3@

2. Define Social Stratification. ) ' 2
ANTE FAPER Fge@ T |

3.  Write the meaning of Democracy. -2
sireas i |

4. What do you mean by Political Party ? 2
oSS e e [ e

5. Define Tribe. . 2
wGife] el

6. What do you mean by other backward Caste ? 2
oty 6 #iat wife e & 3@l e

28T SOCI [3] . Contd.



Define Westernization.

7.
sfioreRed Fiee |

8. What do you, mean by Kinship ?
Towe! e & gEie

9. What is the meaning of Sanskritization ?
AFRoTTR ad e

10. Write the meaning of “Bonded Labour”.
= @i o o

11. Define Dominant Caste.
ORI TeT 7 |

12 Mention two basic process of Social Change. -
AR offedaa o T et Tz T4

13. Write the meaning of Ecological Movements.
AR SewE i i

14. Explain briefly about the achievements of Indian Population Policy
RSN TR AT AFeToR RIa gt 4 |

28TSOCT - [4]



15. “Caste system is a discriminatory system” — Discuss.
“ T AEe BRI wife Y — e F|
16. Descrlbe briefly the main features of Tribe.
wn% e 1 CAIE) TR IR 1 0
17. “Indiais a secular state” — Explain.
wgraead @i & FECor® AT — I
18. Discuss about rural-urban differences.
SRR SR R e |
Or/ T34l
sCultural diversity of India’ — Discuss.
“ofed TIFHOF Rfgel’ — D 311
19. Describe briefly about the urbanization in Independent India.
F|T OFTS PRIFIH R 3 F10
20. Discuss about the power and responsibility of Panchayat.
sjred TS AE wifte] R =zt 340
21 Writé a note on globalisation and mass media.
cmﬁaﬂqmmﬂtmemaﬁ ot it
28T SOCI 5]




24.

26.

What are the functions of mass media ? - ' 4

A4NGII IR & 2

Discuss about Chipko movement or Social movements. ' 4
oAl SCwE AR e SeweT RIS 31

Write about the Malthusian theory of population growth. . 6

Wwﬁtaf%wzﬁaﬁmml

Define Caste. Discuss in brief the major characteristics of caste.

2+4=6
GifoT el | TSI & (T TR IR S 4 |
Or/ 94t

Discuss the role of colonialism in the emergence of new markets.

T TR B IR (IS BARERIT SR e 31

Define Communalism. Discuss in brief major characteristics of

communalism. . 244=6

Aremifeor e ) AremEeR T’ AR wiEsa 9

- 28T SOCI [6]



57 What is Green Revolution ? Explain the consequences of green revolution.
2+4=6

| oivE R B GTow Rega Amifers R4S gt 7101
Or/ =33t

What do you mean by Agranan structure ? Discuss briefly about caste and
class agrarian society in India. '

gﬁﬁaﬂ@miﬁm%qm?wmm@ﬁwﬁwmﬁam
Cicizis T

7]
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The figures in the margin z'ndicéte i
for the questions, I marks

Q. No. 1 carries 1 mark each

1x12 = 12

Q. No. 2 carries 2 marks eaclt
2x12 = 24

Q. No. 3 carries 5 marks each
5x8 = 40

Q. No. 4 carries 6 marks each
6x3 = 18

Q. No. 5 carries 6 marks each
6x1= 6
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1. Answer the following questions : b 1x12=12

weTe Tl 2 RS T il

(1) Where was the Indus Valley Civilization discovered first ? 1

5% TAGFR Tl e T SREE @

(b) What was "Tamilakam’ ? ’ 1
‘“\Siﬁﬁ'ﬂw\’ ﬁs 9
(c) What is the meaning of ﬂle term ‘Tipitaka’ ? ' 1

‘foforei *we wd & ¢

(d) Who is the writer of the ‘Fathiyah—i—lbriah’ ? 1
AR TR a7 o5 (O 2

(¢)  Who was Jean-Baptiste Tavernier ? 1
ai-@#i8 (PeRfm o 2

() What do you mean by ‘Silsila’ ? L
oot P o qa ¢

(3) What is IGOpuram' ?
ol 7 2

(y ~Who wrote “Ainei Axpari’ ?

A Z NPT (i e AT 2




(i) Who introduced the Permanent Settlement in Bengal ? '1
RIS ezt . (P e et 2

(i) In which year was Railway service started in India ? 1

(k) Who killed Mahatma Gandhi ? ' 1

T2 SRS (i 2o SR 2

() Who coined the term ‘Pakistan’ ? 1

‘SfifeB’ =" 7l (@i w2

5 Answer the following questions in brief : | 2x12=24
(1) Write briefly about the religious beliefs of the Harappan Culture.
. 2
A1 R 4w [P TICE b T
() What do you mean by exogamy and end ogamy ? )
‘FfRfaE o oERAR IFEE & 3@t e
(c) What were ‘Brahmottar” and ‘Dharmottar’ 1and ? 2
‘qrAed’ R ‘Aeies Mo 2
[3] Contd.




(d)

(e)

)

(€9)

()

(i)

(@

(k)

28T HIST

What is ‘Buranji’ ? Mention the name of-a Buranji written in the

Ahom period. 2

@E B 2 A Fore IB® G F[ER A Tz =4 |

Name the two rebels of Assam hanged by the British in 1858.

D)
ISSSW@EQﬁTaﬁmW fReaal ERPE I B
Who were the ‘Alvars’ and ‘the Nayanars’? : 2
TR W TR e GO T 2
What was ‘Milkiyat’ ? 2
‘Frfeae 2
What do you understand by ‘Kitabkhana' ? . 2
‘o 3T R g
Mention two women leaders of the Revolt of 1857. 2

1857 b [Rtaizd parid g A el |

Why was the Lahore Sesssion of Congress, 1929 important in Indian
history ? 4 )

1929 bR TR AWrayy, St ©iwe G [T G=gwy ¢

Describe how did women experience the partition of India. 2

o Reied e i s (@i Sz 66 =

[4]




() Mention two measures recommended by the Constituent Assembly

for the abolition of untouchability in India. : 2
S STl fEEE A AR TSR e SRl 1ol 998 T
4l

3.  Answer the following questions : (any eight) 5%x8=40

o E HEET Ol Bl - (Rt Sihy)

(@) Give a description of the town planning of the Harappan
Civilization. 5

A AT I 729 Sibfe afb Remet Rt |
(b)) What were, according to ‘Manusmriti’, the means of acquiring

wealth for men and women? Do you think that these. means
differentiate men and women ? 340=5

LS AR [ O MR 1 Sl vt it i ~IRfeeT 2
IR TARAI *f37 S TEF 4 SRz 31 oft SR ¢

(c) Summarise the central teachings of Buddhism 5
@ 519 S R AR B
(d) Give a description of the Ahom capita] Garhgaon as Jescribed by

Shihabuddin Talish. 5
Baglwe Sifeis Re=el SepiR Site e YOI s s 2t T

(e) Discuss the role of women in the agrarian society of medie val India.

5
mmﬁﬂwﬁ%ﬁﬁwm% wl,

28T HIST [5] | Contd.
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€9)

(h)

(i)

()

08T HIST

Give a description of the defence arrangemerits of Vijayanagara.

Why did it enclose the agricultural tracts ? 4+1=5

PR 2l S S 2o T | B R R R R
e 2

How was land classified under emperor Akbar ? How was land

revenue assessed ? : _ ! 3+2=5

6 SRRE IEERE Wi @EmeE ) [ein w9 @le 2 AT 8oiwe
9 (S FdRe = e 2 |

How did the American Civil War affect the lives of ryots in India ?

5

SICRTA 2 OINeq T e GIRA A (FEWC ] (eTidfes 2

What were the concerns that influenced the British in their town -

planning in India in the 19th century ? 5
TR SIS I & B [EHAR SROS @57 “Reme o
(oI ?

Mention the arguments raised by some members in the debates of
the Constituent Assembly against separate electorate system. ; ‘
ojas DA TR Reiee KR Ao o /g w mmpz & B ofe
e ccaca U 39 |

[6]



4. Read the given passages carefully and answer the questions that follow :

oo AIGIHER CEWCE 251 Sl 2heiiee Se fir -

()

28T HIST

Evidence of an “invasion”

The Rigz:edrz' mentions pur, meaning rampart, fort or stronghold.

Indra, the Aryan war-god is called puramdara, the fort-destroyer.

Where are-or were - these citadels ? It has in the past been supposed
that they were mythical... The recent excavation of Harappa may be
thought to have changed the picture. Here we have a highly evolved
civilisation of essentially non-Aryan type, now known to have
employed massive fortifications... What destroyed this firmly settled
civilisation ? Climatic, economic or political deterioration may have
weakened it, but its ultimate extinction is more likely to have been
completed by deliberate and large-scale destruction. It may be no
mere chance that at a late period of Mohenjodaro men, women, and
children, appear to havé been massacred there, On circumstantial

evidence, Indra stands accused.

FroM R. E. M. WrEeLer, “Harappa 1946”, Ancient India, 1947.

(i) What is the meaning of the word ‘pur’ ? 1

()

(i)  Who is Indra ? Why is he called ‘puramdara’ ?

(i) What might be the causes of destruction of the Harappan
civilization ? 3

[7] Contd.



@B} Siepsied 2

‘%’WWWMWWWFﬁ@%Wﬁ
BRICASH feram | SeEe! 3% SifRe FmE wiefie 7ol sReAIAl |

B AR T e — AT, Tolee T iR 2 g o G
SERE S & PGS AR 4 FIE G ORUNR AR w0i0R
G S ... OB BTSN D G T AR TGS G TR
S ST off R T A AR, [ PRI @ 2oy Ferel
e ZF 2 HARERR, Ao Figdl AT STHE G TSSO T
/A A I Siffee 2R *F Regfe odives IRiFe oS CIFI
e oA AR RS (2 @ R =W R [ e
ﬁﬁaﬁﬁa?ﬁ«@wmaﬁi—mmﬁmﬁﬁ%ﬁ
SR SIS 5T R Red Fikel SR SfRe | Ao e o

AR 2 Sige 3RS SN SRS @A AIE FRA
Al |

TE. T, 9. 2R TJ3l], yp8y’ (Harappa, 1946) Sl &bl SO, 5589
(Ancient India, 1947) 3 o1 T |

(@) 9T TR
(i) @ W 2 (odT ‘opmmR g FE (PR
(i) T TSI ofem R s oery A7 2 A2

28T HIST [8]
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Or/ G41
Languages and Scripts

Most Asokan inscriptions were in the Prakrit language while those in

 the northwest of the subcontinent were in Aramaic and Gr'eek. Most

Prakrit inscriptions were written in the Brahmi script ; however,
some, in the northwest, were written in Kharosthi. The Aramaic and

Greek scripts were used for inscriptions in Afghanistan.

(i) To which source of history do the inscription belong ? 1

(i) In which languages the Asokan inscriptions were written ?
2

(iii) What were the scripts used to inscribe the Asokan inscriptions ?
' 3

o =< e

SR RSl R Ol A e el TeR-ARoRd IS

il SifeE SR S T | (TR 25 ity @ReE A I
o573 Ol ) SERTRAT 2iFe Bl arf e Fi 2 dfne TEE-
siffsTIEETS YA SN TRZS (% | Sl fiformze SR S
R i ordl itz |

i) Fif EER & TR oRge ¢

(i) NS PR T & orre e e 0

(i) e RS R SR e ) e ¢

[9] Contd.



(b)) Widespread poverty

Pelsaert, a Dutch traveller, visited the subcontinent during the early
decades of the seventeenth century. Like Bernier, he was shocked to
see the the widespread poverty, “poverty so great and miserable that
the life of the people can be depicted or accurately described only as
the home of stark want and the dwelling place of bitter woe”.
Holding the state responsible, he says : “So much is wrung from the

peasants that even dry bread is scarcely left to fill their stomachs.”

(i) Who was Pelsaert ? Which country did he visit ? 2
(i) Why was the shocked ? \ 2

(@iii) Why were the people, according to him, poverty stricken ?

wiegerR e e

(@D R eElelE ot GoE g™ X O e eRe
AT T f3fee | T WA (O MRESR ivieel iR wiye
C=feeT, “niiwe! 3 Sy o, SpiEy Sifee @ TR SR gRas B 11 el
A 47 AT et iR AR @R T TR #1R54ef 71 g
TG SHIG SIRPrZR e | OF A AGT I TS 3 (o e,
PRI 2 Fq-=pie el S 1 C2fRe (T T (o see
FO° 6 R Wi e b FHRE

() CFTED @R ¢ cod e o T IR 2
(i) %€ T 2R Tafir ¢ |
(iii)  COST TS Tz oy HRwler® SR ?

28T HIST [10]



Or/ 9241

Travels of the ‘Badshah Nama’

Gifting of precious manuscripts was an established diplorﬁatic
custom under the Mughals. In emulation of this, the Nawab of
Awadh gifted the illustrated Badshal Nama to King George III in
1799. Since then it has been preserved in the English Royal
Collections, now at Windsor Castle.

In 1994, conservation work required the bound manuscript to be
taken apart. This made it possible to exhibit the paintings, and in
1997 for the first time, the Badshal Nama paintings were shown in
exhibitions in New Delhi, London and Washington.

(i) Who wrote the Badshah Nama and why ? 2

(ii) = Who gifted the Badshah Nama in 1799 and to whom ? Why did
he do so ? 2

@(iii) Why did the Mughals present such manuscripts as gifts? 1
JvRR e e

AR AN TR oA WA AT pef s elbfFre FOCAOT
Sl IR | R PR I NG g Sxpered 9o PO TEHS
548 WWWWW%"W ffea | cofonigeml (iRl RETST
gERE RIS, SICH SECERT= 5 ISeAiirs, seafiee IE A &R
S8 BRI PRI T TCAN AN Rt sjeres <o eicareet 22T
(oif @2 RS A S>> BT AR TN gy oy ), A e
mﬁgﬁﬂ'@%}’ﬁ?‘ﬁ@wwml g

(i) WWWWW’W'P

11 :

e s



(i) 1799 vF® (I, I O [F7 AT T TR Zoitst T 2

(iii) RPN oo @ ~iiefF Totg fRoieel fafee 2

(0 The Azamgarh Proclamation, 25 Augusf, 1857

Section Il — Régarding Public Servants. It is not a secret thing, that
under the British Govemmeﬁt, natives employed in the civil and
military services have littlé respect, low pay, and no manner of
influence ; and all the posts of dignity and emolument in both the
departments are exclusively bestowed on Englishmen,.... Therefore,
all the natives in the British service ought to be alive to their religion -
and interest, and abjuring their loyalty to the English, side with the
Badshahi Government, and obtain salaries of 200 and 300 rupees a

month for the present, and be entitled to high posts in the future...

(i) Who issued this proclamation and to whom ? 2
(i) What was the Badshahi Government referred to here ? 1
(i) Why were the public servants asked to join them? 3

SEree A #1g, 25 wiat®, 1857

Wl 3 - ASORRag off . G35 @El @9 T T @ s v

G&E SR O, AR GRIe FEae AR EIRPRER T Sk @
»8T HIST [12]
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SIS S AR ACRR ; T Gt Reti T 7 9k ({971
ATTAR G BATSIE SRS Af Tl (2 .. ... ... oifer o< R
e Al @ARE JoHT AfS Sigere) Spist R Fea 45 @ FdE 2@
2 Tl Tfo® on% AMMIR] DIPIR 25F (1 MRS Wed© 200 S 300 5319
@od AT R SRS TH AMIEIE W@ @5y T2 Boa el . o .

() I O FE 93 (AREPg Gk SR 2
(i) S AMAIZ] IR T I DI T2 cawticé?

(iii) TR DIFRAG FeTs [ (OSEIR F19e (sl atet it == ?

Or/ &1

“Without a shot being fired”
This is what Moon wrote :

For over twenty-four hours riotous mobs were allowed to rage
through this great commercial city unchallenged and unchecked. The
finest bazaars were burnt to the ground without a shot being fired to
disperse the incendiaries (i.e. those who stirred up conflict). The ...
District Magistrate marched his (large police) force into the city and

marched it out again without making any effective use of it at all...

(i)  What was the cause of this riot ? 2
(i) Why could not the riotous mob be challenged ? 2
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(iii)) What measures the police and the administrators should have

taken against the wrongdoers ? ! 2
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5. Draw a map of India and mark the following places : 3+3=6

Guwabhati, Jorhat, Benares, Delhi, Kanpur and Mumbayj.
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In what way did Mahatma Gandhi transform the nature of the national

movement ? 6
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